September 22, 2022

?oujuomm. + ?AT!M&L Funictio

PO[MMI'JS D ONe dr Moe -Iumj \/z
9) While # exponw‘s x>

Lyt ran oxte7x- |

6f4|§\5 — vo\lerwoastr ‘\\VKP\V

B Smoesth, rounded. furns
Q) ontinvovs (no andl ?\1' m\\e\oS'nO as(,wbb
no Shay P‘Js)




September 22, 2022

Evp Bewavior 4| | 4=¥ lz y=x'
Dajree/ O‘r K p—%n-

2
= |7bJ‘7‘ gwcr 'ﬁs() ::zﬁ_—szf Yx -5 "
X- Inerapts = de 044 P""J’"——-emcs P bPPoé"roc"nd?y
LA e g S

= ends 30\';‘ Op?bs\'b &\v-ee:k'm
“@ of velatve may.(mms = ‘Dp_%('.o_e )

te Zeros =
4 of R Sxdrema= D

00
K e tothe o

_J

Ly= 3x5+7x3— 7341-\ \[—

Lerns= S &r:m $w)= ~Too
R Exdrema=T et 0




September 22, 2022

50,\/\ 3 PO novma_(
(3)( ?x}{fx /;) O

2% (x-9) +3(J("’)'
(x-9)ax’ +3)’




September 22, 2022

Solve..
2i°r 3xP-x* I 55x-30=0
ex _Nx-2)(x _)x )& =) .
-~ t _-521—33‘52"67/‘01'/51;
| x=* Tz

P —

._{ 9 -SS ‘3(_)

2| 2 3
’S 2 -~ ,
2 7/|5/.35 s O

+

4 3 2 + €
X-2 3 3S +|53 =1
(=D (2x+ 7t 133" +3Sx ) 7 T

ALFL X= -2 &

-3 a7 13 3s IS
4k -3 —320 ~1S
¥ 1 o = 0O

(%-2) Qx’rﬂ(@xs* 7:)*(‘0 Xt %
(1-2)(x+3) | x*(2eri) +5(2XH)

(X'l)(x”)(-z’“‘)("z”)\/":\/—‘
pr— - S
[X=2,-3, A F/S gy

—_—

S




